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(A) (B) =(C) (C)/(B)
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R=R™ 6, 220 5, 966 254 4.3
RIS BT 6, 300 6, 300 0 0.0
RFOAR LT 6, 200 6, 200 0 0.0
KT 6, 770 6, 770 0 0.0
IR 4, 883 4,818 65 1.3
e 6, 400 6, 300 100 1.6
Fi& 6, 600 6, 600 0 0.0
R 6, 500 6, 500 0 0.0
A BT 5, 600 9,300 300 5.1
At 6, 000 4,900 1100 22. 4
BT 5,920 6, 200 A 280 A 4.5
FpeTh 6, 600 6, 800 A 200 A 2.9
L7+ 5, 900 9,900 0 0.0
SFRHHT 5 610 4,811 193 16.5
= JERHT 5, 880 9, 880 0 0.0
B n HT 5 134 95, 140 A 6 A 0.1
RIEHT 6, 700 6, 400 300 4.7
JI| FG T 6, 200 9, 630 570 10. 1
=Efr 6, 300 6, 000 300 5.0
H [ A BT 6, 100 6, 100 0 0.0
B 6, 300 6, 300 0 0.0
e A 6, 000 1,300 A 1300 A 17.8
= B AT 6, 000 6, 000 0 0.0
BB & 5, 800 9, 600 200 3.6
Lt 44 BT 5, 800 9,300 500 9.4
F SFAT 5, 600 9, 600 0 0.0
= [ T 6, 000 9, 600 400 1.1
k=1l 5, 900 5,100 800 15.17
= EPAT 6, 000 6, 100 A 100 A 1.6
KizHT 6, 500 6, 500 0 0.0
T 5,700 5, 800 A 100 A 1.7
2EH 6, 000 6, 500 A 500 A 1]
ESLIES] /1, 800 /1, 500 300 4.0
el 6, 345 6, 345 0 0.0
i)+ 6, 750 6, 750 0 0.0
TAeFt /1, 300 6, 550 150 11.5
£t 6, 000 1,000 A 1000 A 14.3
JIL L& 5,000 4, 600 400 8.1
Ro It 1, 280 1,600 A 320 A 4.2
SREFI9E 6, 034 5, 851 183 3. 1
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